EARAROBEEIERT — 2 N— IBISH —F

2014597148 (B) SEIFAE2H

RN oTusE% 1000AT ¥5%3/mE (BE) (50 ©& [l m [ immm) — |2 o0 2o
[A&E4£] 1 7 14,800,000 § 2 7% :5,900,000 § 33 :3,700,000 § 4 7% :2,200,000 § 5 & :1,480,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
®TLARTTT— 4 5 ?E_E%%E 1;(5_9).5 5-5 33.6|99.7 | 3 458 igg; (@)
RHATAG = BV ryR—F—R b RE S S
o B g B s M. TAKRY— :59. — . . BEFE (ER)
S KYY Pk R Tl N O B R A IR B e
LN—=V754 B: v RKyINT pdtie]
. [EAITE: TN : = HERE (EH
X gy it 4 B 1(75?:; 2-2 34.3| 97.4 | 2 (5_024) gl
YL KYIYRIR Bik—% v hETZ RIS
7 4 5 | SHZ 1:59.9 1-1 34.7|93.4| 6 468 | RARAS (FH)
<7 %) [B] 57.0 (1 1/4) w2) | ) #rF-L—vy
Rid— W RFYa— B:=SAhFA BAT 7 —L
S ILS, o S 4 6 | HEEKXH 2:00.1 4-4 34.3|93.0 | 4 504 | EBFUME— (EH)
EEE VDL EN (=) 7.0 {1 1/2) W) | ) ¥ITLuKI5T 5747
LN—=Y7514 B:F—-E—-Fvvb (B) HBEaA—-KL—>y3>aE77
: = 4 5 | BBER 2:00.2 3-3 345916 | 5 470 | AREN (FR)
6177 E—LZ4 7L 57.0 (7€) (-2) LT
LV TdATIA LK B:vavFr7x—0 ExicEe )
S o6 | SelliE— 2:00.6 7-7 34.5|87.6 | 7 488 | FWINIEE (E#)
7011 | B RI7H—0 ’ §7.0 21/2) 4a) | B0 O-Fx-2557
Z:d—IK7Ya—)b B:Yv KyIILT it
@ 21 L
£ 46.3-34.3
NA>ZA LA | 13.1-11.6-11.7-11.9-12.6-12.3-12.0-11.5-10.9-11.9
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= 2-5-7,3(4,6)-1
40 —F— 2,5-7,3(4,6)1
[ N5
B 6 450M 714K 4-6 200M B E 4-6 570M JEE 4-5-6 630F
# B 6 200M 5-6 310M B H 6-4 1,350 JEE 6-4-5 3,860
4 140 4-5 220M

ABICOVWTRDTEEERROODE. TR LIV,




